[ *%
* Definition for a binary tree node.
* struct TreeNode {

* int val;

* TreeNode *left;

* TreeNode *right;

* TreeNode() : val(®), left(nullptr), right(nullptr) {}

* TreeNode(int x) : val(x), left(nullptr), right(nullptr) {}

* TreeNode(int x, TreeNode *left, TreeNode *right) : val(x),
left(left),

* right(right) {}

* };

*/
class Solution {
public:
bool isValidBST(TreeNode* root) {

vector<int> ordered_tree = bianliBST(root);
int i;
for (i = 1; i < ordered_tree.size(); i+) {
if (ordered_tree[i] < ordered_tree[i - 1]) {
break;

I

if (i < ordered_tree.size()) {
return false;

} else {
return true;

}
[/ B EH = IR
vector<int> bianliBST(TreeNode* root) {
vector<int> result;
if (root == nullptr) A{
/] SRR
vector<int> temp = bianliBST(root—left);
/] BHEFNER
result.insert(result.end(), temp.begin(),
temp.end());
/] EERTI R
result.push_back(root—val);
/] RiEshaFH
vector<int> templ = bianliBST(root—right);



/] EHEFNE
result.insert(result.end(), templ.begin(),
templ.end());
+

return result;



